10 Now include the number of car owners in hoth sentences.
you have to re-organise your sentence,)

Wiiting Ui 7

(This may mean that

11 Write a fuller description of the graph at the beginning of this unif

:a‘}\ For further practice, do Exercise A n the
L;:/

12 Write one sentence that describes what each of t

Supplementary activities on pige 115

A
he graphs below is about. Then

describe the trends that you, can see in each graph. ‘ ly
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13 What does the graph below show?

HARRY'S annual sales of
hamburgers (1998)
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How is this graph different from the ones you have looked at so far?
Why de you think this information was presented on a line graph?

What tense will you use to describe it?

Write four sentences about the trends you can see in the above graph. See how
many different types of structures your class can produce and write them all
down. Practise using the words stable, fewer, rise, sales, peak, drop, popular,
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Wiriting UNIT 2

Follow-up

o What is betng shown (1 e giaph bslow?
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« Read the followlng
deseription of the
graph above,
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« Discuss what is wrong with the above parugraph,' then write your own paragraph,
making improvements, A model answer, one of many possible versions, 1s given on

page 182,

activities on page 116,

et

Lo vl 4 A " . 2 -
(}\C_j;\ for further practice, do the IELES task, Exerclse B of the Supplementary
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